Efficiency vs P,

0.05
o
9.045
>
20.04
o
.035
0]
0.03
0.025
0.02
0.015
0.01F -+ P Feeeeeeeeen e
0.005
.0

Ratio

1.1

iy

n

H T

—

- +——
bt .. ..

H H

=
o

" 1 10 . Gedf’

MKEIT_T1base
mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
mkFit_TT_baseline_6iter

mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD

—
—_—
—_—

DOM
DQM
DQM
DQM

=0.05
[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015

0.01F ----ifoeei- 'LIT Aplle
E T
0.005F- =+ i 4 Ygf.f ..............
o LGE"'"'.{?'..'"T!""i"'lilllliu||
& qafeo- H R TR R R B - 4
E o : 4 |
hs----- St ‘ T “_ 1
-3 2 -1 0 1 2 3

.018F




	Contents
	Page 1


